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s FEEfERE(18%): 3t 6 FE

1. 47K (Inheritance) 2. ¥14&(Encapsulation)
3. ERHE THE(Software Engineering) 4. Big-O notation
5. BEJEATH(Circular queue) 6. 5c# TR (Complete binary tree)

— [ ERE(82%): 3t 7 /E
L REGDUTER - (ERIRBVERAIIZAEE S (40 Java/C/C++ERRTRESE « (18 FufE /L
in 5 < NERBKEIEL AP1)  (10%)
(a) HER — B AR - PRHAEBLIES] a P KAVTTE(FEFIA/ NG n) » HERLIF: (5%)
(1) E&E(EREHEE max, max2 » S A 1R b Ay B A (B B2 FoqE -
(2) &< max, max2 53 {47 al0], a[ 1] # A Bl NA T 2
(3) BER— R > 1 al2Bfth - F—AGHEYITE: oS HH max EEE - 2k » HIEY
X max (B8 max2 SUEEFIF S max BOME  &HI » FSHEE max2 Hhlk » Wk
AIJEUA max2 -

(b) S5 — L2/ R » ${F bubble sort » {§— BB a (9P 25 F/NEIACHE R (5 A/ N 1
n) o (5%)

2. (RKIGLATET » (R IRBVRIVIZZEES (W Java/C/C++ )R BTiE= « (1% AMEHOAEA

—(EFEZ - BA T3S > R AP (10%)

() EE—RA 9 (EITRAVEERIE a- B8 — i (I E AL E B 10, 20, 30, 40, 50,
0,0,0,0 WiE&E#H size SH[ERS -

(b) SEEBEEHY index=2, n=25 > L » % n 1B ALEPEFIES B A (index) & > (15
TURZE—F&RIFE - NABE 10, 20, 25, 30, 40, 50,0, 0, 0 » A4 size HEA A 6 -

(c) M3 index=3 » BEE— RS » 1EMHF] REIRIE E A (index)BEEYTTE » [EIF| T 2R —
[ RIS - AR By 10, 20, 25, 40, 50, 0,0, 0, 0 » A size Jal/b By 5 o

3. 5%l(List): (10%)
(a) FEERBA SR (List) ~ HEAB (Stack) B (T3] (Queue ) FEEEME_FHER (3%)
(b) 1EEE [ f#4E 5551 (Singly Linked List)fJl_E—{& dummy head node » 75 {a[{B%};? (3%)

(c) A4 — ('S 3 6 51)(Doubly Linked List) ZORI45HS » 2717020 B888Y » fRFF A 10,
20, 30, 40 - (4%)
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4, M (Stack): (12%)

(a) EEAIA {4 s1, s2, FEER RS (pseudo code)i§ s1, s2 YA ELYE » RFER
—ZEHEDE s3 o 4 - #F sl=[n1,n2,n3], s2=[m1,m2,m3,m4], B s3 HIANEKE
[n1,n2,n3,m1,m2,m3,m4] - {RELHEB(EFER LT #1E:

s.push(n) #&ITE n FFRHES s THIH
x =s.pop() BBIRHER s ZJRIFITE » WAFHFER x
s.iskmpty() Fl5ll s NERBERHZE » [Bf#H{E A true 5 false  (5%)
(b) ERHRFHET 6-(5+3)+(7*8/4)#Hits 55 1% B = (postfix expression)  (3%)
(c) &(b)  iFFTEENBREAR SHEBEE > ;TEEERE - (BEHIBE) (4%)

| 5. EAE—EBEF] 48, 93, 72, 56, 18,99, 64,28 > (12%)

(a) FH{EM Insertion Sort $EIMET H/NEIAHEF (5 HBIZ S RIREE5Y) -
(b) 7347 Insertion Sort Z iz 72 {RTAF RHEAERE » LA Big-0 FIRAFR -
(c) SR{EM Merge Sort BT AZV NP (R HBIEERIT4E D) -

(d) 53#fr Merge Sort 7 Bz 72 RS RIEREE » L Big-O0 RWEAFRRLZ -

6. {EE%— Hash Table 7 K/]\(TableSize) & 11317 LA h(key) = key%TableSize 57 2 Hash function:

(14%)

(a) 7¥F88{E 20,33,10,54,14,23,55 X [FIIAFAEF > AL linear probing f Bkl faHEfz
(collision resolution) 772 » B {&REHINE KR (FBELHERE - FRIRE ) (4%)

(b) ECFHEE 20,33,44,42,65,13,31 {RFFHIAFM S » AL quadratic probing i Akl HE
RRITE  BRAREIAS B (BEHIBE  BRIRED) (4%)

(c) FEFE(EH linear probing #ETTHEHEMERS - FTREEE 4 KT Primary Clustering f58H - (3%)

(d) EfER quadratic probing B » SEBEEHIFI R PETE A E? HRAKRK - (3%)

7. JC¥=15{(Binary Search Tree): (14%)
(a) KFPiF31E 6,11, 7,9,4,5,2,3,12,10, 1, 13, 8 I A— TiSEE - & H ILBIAVAEH -
(3%)
(b) 7K (a) » BHHFTEIL TR 2 1% 31T (post order traversal)45 52 - (3%)
(c) 7K(a) » EFRFIL TS BIAVIRETEMIGRET - BB BEAVETEERS &) - [ A E (R
FITHESEIEE? BEHEAEEE > UEHERIRETBEAVBIRSGEH - (3%)
(d) EBH—EEER h BV =JC > &%%H 2"-1 (EE7E: - (5%)




